
Swavesey Primary School Year 5/6 weekly tasks  

Week beginning: 23.3.20 

Task Completed 

Weekly spelling  
 

Writing task  
 

3 lots of  10410s  
 

Topic task   
 

Exercise videos  
(or other exercise!) 

For example  
https://www.youtube.com/watch?v=TUp2_VAHIrI 

 
 

20 minutes reading a day   
 

 

Weekly Spellings  

1) Definitely  
2) Disguised  
3) Protein 
4) Rehearsal 
5) Lorries 
6) Caution 
7) Carriages 
8) Seize 
9) Knowledge 
10) Noticeable 
11) Dishonest 
12) Eighty 
13) Qualified 
14) Especially  
15) Centre  
16) Twelfth  
17) Encouraged  
18) Ordinary  
19) Designed  
20) Humour  
 
Writing Task  

Free writing story task. 

You may write a narrative about whatever you wish! Remember to plan if that would be helpful (10-15 bullet points 

of the main events or create a story mountain).  Enjoy! 

 

Topic Task  

Create a poster explaining Pok-Ta-Pok or write a review of one of our Pok-Ta-Pok tournaments. 

 

 

https://www.youtube.com/watch?v=TUp2_VAHIrI


10410 Questions  

Number 1 

1) 300 x 7,000 = 

2)  3/4 x 7/10 =  

3) 1,324,562 + 412,476.34 =  

4) 4/5 + 14/20 = 

5) 2/7 of 210 =    

6) 3715 ÷ 5 =  

7) 34 x 72 =  

8) 6/11 ÷ 5 = 

9) 143 x 452 = 

10) 12,500 + __________ = 15,000 

Number 2 

1) 1,200 x 800 =  

2)  15% of 600 =  

3)  32% of 600 = 

4) 35,412 – 4,000 =  

5) 154,674 – 125,657 = 

6) 12 – 23 = 

7) 56 x 21 = 

8) 7/10 + 13/20 =  

9)  45/8 as a mixed number =  

10) 4 + 9 x 12 =   

Number 3 

1) 0.9 x 5 =  

2) 34 – 5x 6 =  

3) 42 – 57 = 

4) 600 x _______ = 24,000 

5) 8/11 ÷ 5/9 =  

6) 7/8 of 320 =  

7) 0.7 as fraction =  

8) 4/5 = ______% 

9)  What is the area of a 23cm by 18cm rectangle?   

10) 8208 ÷ 18 = 



10410 Answers 

Number 1 

1) 300 x 7,000 = 2,100,000 

2)  3/4 x 7/10 = 21/40  

3) 1,324,562 + 412,476.34 =  1,737,038.34  

4) 4/5 + 14/20 = 30/20 = 1 10/20   =  1  1/2 

5) 2/7 of 210 =  60 

6) 3715 ÷ 5 = 743 

7) 34 x 72 = 2,448 

8) 6/11 ÷ 5 = 6/55 

9) 143 x 452 = 64,636 

10) 12,500 + 2500 = 15,000 

Number 2 

1) 1,200 x 800 = 960,000 

2)  15% of 600 = 90 

3)  32% of 600 = 192 

4) 35,412 – 4,000 = 31,412 

5) 154,674 – 125,657 =  29,017 

6) 12 – 23 = - 11 

7) 56 x 21 = 1,176 

8) 7/10 + 13/20 =   27/20 =  1  7/20 

9)  45/8 as a mixed number = 5  5/8 

10) 4 + 9 x 12 = 112 

Number 3 

1) 0.9 x 5 = 4.5 

2) 34 – 5x 6 = 4 

3) 42 – 57 = -15 

4) 600 x 40 = 24,000 

5) 8/11 ÷ 5/9 = 72/55  = 1  17/55 

6) 7/8 of 320 = 280 

7) 0.7 as fraction = 70/100 = 7/10 

8) 4/5 = 80% 

9)  What is the area of a 23cm by 18cm rectangle?  414cm2 

10) 8208 ÷ 18 = 456 


